5

Elektro-Automatik

DATASHEET

EA-EINBAURAHMEN 2U 19"

Mount frame for 19" racks

© EA Elektro-Automatik in 2023, this information is subject to change without notice 10400111_MA_EN_02



Mount frame for 19” racks

Features

B For the 9000 series EA-PSI 9000 DT and EA-EL 9000 DT
B For the 3000 series EA-PS 3000 C and EA-EL 3000 B

Mount frame in 2 U

B Simplifies the integration into a 19" rack

Compatible models

EA-PSI9040-20 DT 320W
EA-PSI 9080-10 DT 320W
EA-PSI1 9200-04 DT 320W
EA-PSI 9040-40 DT 640W
EA-PSI 9080-20 DT 640W
EA-PSI 9200-10 DT 640W
EA-PSI 9040-40 DT 1000W
EA-PSI 9080-40 DT 1000W
EA-PSI 9200-15 DT 1000W
EA-PSI 9360-10 DT 1000W
EA-PSI 9500-06 DT 1000W
EA-PSI 9750-04 DT 1000W
EA-PSI 9040-60 DT 1500W
EA-PSI 9080-60 DT 1500W
EA-PSI 9200-25 DT 1500W
EA-PSI 9360-15 DT 1500W
EA-PSI9500-10 DT 1500W
EA-PSI 9750-06 DT 1500W

EA-EL 3080-60 B 400W

® EA-EL 3200-25 B 400W
® EA-EL 3500-10 B 400W

06200500
06200501

06200502
06200503
06200504
06200505
06200517
06200506
06200507
06200508
06200509
06200510
06200516
06200511

06200512
06200513
06200514
06200515

35320205
35320206
35320207

EA-EINBAURAHMEN 2U 19”

EA-EL 9080-45 DT 600W
EA-EL 9200-18 DT 500W
EA-EL 9360-10 DT 450W
EA-EL 9500-08 DT 400W
EA-EL 9750-05 DT 400W
EA-EL 9080-60 DT 1200W
EA-EL 9200-36 DT 1000W
EA-EL 9360-20 DT 900W
EA-EL 9500-16 DT 600W
EA-EL 9750-10 DT 600W

EA-PS 3040-10 C 160W
EA-PS 3080-05 C 160W
EA-PS 3200-02 C 160W
EA-PS 3040-20 C 320W
EA-PS 3080-10 C 320W
EA-PS 3200-04 C 320W
EA-PS 3040-40 C 640W
EA-PS 3080-20 C 640W
EA-PS 3200-10 C 640W

© EA Elektro-Automatik in 2023, this information is subject to change without notice

33210501
33210502
33210503
33210504
33210505
33210506
33210507
33210508
33210509
33210510

35320208
35320209
35320210
35320211

35320212
35320213
35320214
35320215
35320216

10400111_MA_EN_02

2



1 Assembly

1x (
@)
& M3 4x m M3 4x
2% S M3 4x (mm M4 4x
- €3 M4 4x EmM3 4x
2

3
5 @
S > G
Pull e &' Pull
< o ._ | A[l =
k:l:l:ﬂ:ﬂ:nr—‘ﬂ—“:uzﬂzﬂﬂzj

é




T

4.2
4.1‘
= :
5.2 ‘
:,:3'::3‘ 2x M4x10 E
5.4 ==p 0=l| =0

2x M3x6

T e [

5.3=p

5.4 ==pp 0=

2x M3x6 ik

Bx10

2x M4x10 i

5.24




© EA Elektro-Automatik in 2023, this information is subject to change without notice 10400111_MA_EN_02 5



o

L'yLE = X wig
MOZE / M09L auss
000€ Sd  IBPOWN -
e

Z'ove = X wig
ally 1 auss
1a 000613 IBPOW

6

_MA_EN_02

10400111

MO0SL - MOOOL = ®MSS
1a 0006 ISd  ‘ISPON

2'9rE = X ©owig
MOV9 - MOZE - {MSS
1d 0006 ISd  ‘ISPON

© EA Elektro-Automatik in 2023, this information is subject to change without notice



EA Elektro-Automatik GmbH & Co. KG
Helmholtzstr. 31-37
41747 Viersen

Phone +49 2162 3785-0

Fax +49 2162 1623-0
eal974@elektroautomatik.com

www.elektroautomatik.com

EA Elektro-Automatik Inc.
9845 Via Pasar

San Diego, CA 92126 USA
Phone +1 (858) 836 1300

sales@elektroautomatik.com

www.eapowered.com

© EA Elektro-Automatik in 2023, this information is subject to change without notice

E
A

10400111_MA_EN_02



